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2.1 2w

oy A2 & 1 IEEE488.2-1987 Frifi e X1, AR AR 2 ARG H AN
. B LR ERigSH R e 2%, el LUk 5E R E 1 DhRe .
KA IR 2 RE T H B A HFE LR 2-1-1 Fios.

i A= IR 5]
N/A *IDN? Eucol Electronic Technology Co.,Ltd.,<{X #% 7Y
5>, <AUE P T >, <A B AT IR AS>

*RST N/A N/A

*RCL <value> N/A N/A

*SAV <value> N/A N/A

*CLS N/A N/A

*ESE <0-255> | *ESE? FARE M RE T A 75

N/A *ESR? HIRE T A

*OPC *OPC? Iz A1

*SRE <0-255> | *SRE? AR 451 SR AE BE PR A7 7

N/A *STB? R 55 15 K57 A7 A
1. *IDN?

REUEME R, GIEAF LK. 85 FPRES . BHRAS.

P)iEYVL: *IDN?

2r1f)3% [A] : Eucol Electronic Technology Co.,Ltd., <X #3T 5> <A 23 7 1) 5>, <N 23K
PR A

2. *RST (Reset)
A TRE PR, XE BB ®E.

TAiEVE: *RST

3. *RClL<value>
P H value 38 @I % B SO . value JE[Hl: 1~100.
A 1EVE: *RCL <value>

fltn: *RCLL IR R A AL B AL A B E D

4. *SAV<value>
RAE value F8 5 BN % B SCAF . value YE[: 1~100.

A iEVE: *SAV <value>



Fltn: *sAv 1 P LB S RAT B N S A s A B 14

5. *CLS
HEPRIRSTF AT Ar, FFELTE BRf 2P XRE R OPC fi.

AIEE:: *CLS

6. *ESE<0-255>

BOE FAPIRS R A A7 8% o IR RE A7 S92 RS A5 A7 8 TP A RE AR N AL
RS RERF A7 e T RN AL E N 1, (RS T A7 A5 A A

ESE (FHAPIRSERE T AF4%)

[PON | [ecME [exe | Qe | | opc

Y

(A Z R i HENIN, fER

7 PON b 4l WA E R, FERAE

5 CME iR R A — A dr S E R, FERE

4 EXE PATHE IR SR B A PATEHRE, SERAE

2 QYE W BEEK | e A B, (HR CE T A,
HFRAE

0 OPC BAE K B REE RN, FERAE

T A 1Bk *ESE <0-255>
YIS *ESE?
EIR[E: <NR1I><NL>IR B FH AR A BE 27 A7 28 (H

7. *ESR?

St S ESEFR FRR ZS A7, 3R [8] BT A5 A BE A AR S5 S, [ IS FRESREF A7 %5 -
ESR (HRETAE)

I | %R | #d HEN1E, 88

7 |PON | kH =

5 | CME | 4R ARSI 21— i 2 1R
4 | EXE | ATAE R I B — NPT R R
2 | QYE | FHEdEES | AR S s R
0 |OPC |#ESER BEC K

B )iE:: *ESR?
IR A <NRI><NL>XT N ESE H PR, IR FRIRASE B



8. *OPC

FEFTAS i 2 FRMT 52 UG K ESR ZR 728 1) oPC B4,
ik *OPC

HIHEE: *OPC?

iR E: <1><NL>

HE: BOBFER*OPCUR B 5 A BEPAT T —F HIRAE.

9. *SRE<0-255>

Bt M4 SR (B RE AT AP . B 1 RT, (B REIRA 15 77 A e U B .
SRE (25 iR A 478

| | [esB [mAv | | | [

FF
fir 2K ik HENIR, fERE

ESB FAPIREAL | ESRAVE RE R ZHAF = AL i 7= 2E v

5
4 MAV ARUE R o 3 2 o DX R R AT 0 7 A A

A 1EVE: *SRE <0-255>
115 *SRE?
BUWIR[E]: <NR1><NL>I [B] AR 5535 SR AH i 25 47 5%

10. *STB?

AR 9] IR 4518 SR A A7 4% o
| | RQS | ESB | MAV ] | | |
AU B

(A B iR Y E NI, $BH

6 RQS R 45 3k 25,44 v SR 3R B A 5 A IR 451 SRR
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2.2 BErERHZmS

DISPlay:PAGE ¥ € X 8 &7~ TLIHI, DISPlay:PAGE? %) 24 LCD i & i T I
4157 DISPlay:PAGE<page name>
<page name>HEAKUI T

MEASurement € o TUHI 22 Il & 27 T (MEASurement)

LIST WRE 7R UL IH 2 #1382 7 DL (LIST)
MSETup WOE s T 2 I 7k B LT (MeasSETup)
MCONfig WE s DU & N P 2 0 [ (MeasCONfig)
SYSTem WER /RN E: RS 13EE JUH (SYSTem)
INFO WS ARIUHE: RSG5 B SR TUH(INFO)
FLISt WE 7R UL IH 2 SCHFA1 3R 35 7R DU THI (File LISt)

YRI5 DISPlay:PAGE?
if)IR [F]: {MEAS | LIST | MSET | MCON | SYST | INFO | FLIS}<NL>
QEFE: WRIEANEZH, WA Ia4, b4 20 !

2.3 FaifE I R Z S

[SOURce:]SAFEty:STARt[:ONCE] /= Bz .
firAiEvk:  [SOURce:]SAFEty:STARt[:ONCE] Itdr4H T JE shs .

[SOURce:]SAFEty:STARt:OFFSet GET JE 515 % .
firA-1E7%: [SOURce:]SAFEty:STARt:OFFSet GET
Zan A B NEENE, EEEMEIE BT HFEET L.

[SOURCce:]SAFEty:STARt:OFFSet {ON | OFF}

AT 21574 [SOURce:]SAFEty:STARt:OFFSet{OFF | ON}

%2 AT AT 8 R G F IR

P 1H) 15 V% [SOURce:]SAFEty:STARt:OFFSet?
ER[E {0 | 1<NL> 0 RoRIEE KM, 1 FRHEITI.

[SOURce:]SAFEty:STOP 15 [E i
fir A5 [SOURce:]SAFEty:STOP It v 4 FH 1452 1

[SOURce:]SAFEty:STATus? 2 ) {X 25 i 1T IR AS .
fir 218 7%:[SOURce:]SAFEty:STATus?
53R [5]: {RUNNING | STOPPED}<NL>



2.4 ﬁlﬁ/ﬁzﬁ_gﬁ:ﬁéﬂxé&

[SOURce:]SAFEty:FETCh? T # il &S %

#ir 2181 [SOURce:]SAFEty:FETCh? [<item>]{,<item>}

A H TR RNESE, <item>F/RFEEARTNESH.
Iy 2 22 2 BRI EE W R SR A P

ltem 7157 £ Al

STEP H ar iAo e 8%, kR o
MODE H A=, 45 1IER 9 NONE
OMETerage H H output meter g (HLJEL)
MMETerage H Hil measure meter 156 (M=1E)
RELApsed H # AT 1 FER TE T B[]
RLEFt H B AR AT 1 HE T TEF- B[]
TELApsed H H ST B 8]

TLEFt H A AR BAT B0 8]

FELApsed H H AT 1 FUER R B [A]

FLEFt H B ARPAT B FEE T B [A]
FELApsed H 77 4T 1) DWELL RFSERS (8]
FLEFt H B A AT 1Y DWELL H742 0 8]
CHANnel ERIESEPIBEEN

151 41 [SOURce:]SAFEty:FETCh? STEP,MODE,OMET
A% %83 [A]“1,AC,+5.000000E+02”, 7~ Ex i) LI STEP,MODE A% Hi B ) 45 5 &
STEP 1,AC MODE,0.500kV .

[SOURce:]SAFEty:RESult:ALL[:JUDGment]? 25 i T 3 25 W ) 1) 7] 45
21574 [SOURce:]SAFEty:RESult:ALL[:JUDGment]?
Bk [E7116”, FRoRFIMGE TG, TEILJE SR,

[SOURce:]SAFEty:RESult:ALL:OMETerage? 25 11T 2 % output meter {5218 .
21874 [SOURce:]SAFEty:RESult:ALL:OMETerage?
%4113 [7]”+5.100000E+01” 2% 75 £ 1] output meter )45 52 0.051kV.

[SOURce:]SAFEty:RESult:ALL:MMETerage? 21 if] T 20 %% measure meter B2{H .
i 21575 [SOURce:]SAFEty:RESult:ALL:MMETerage?
1 413 5] +6.1200000E-05" 3 71~ 25 #i] measure meter HJ45 5 /& 0.612mA.



[SOURce:]SAFEty:RESult:ALL: TIME[:TEST]? 25 141 [T A5 45 B I i 75 1) 1]
i 21575 [SOURce:]SAFEty:RESult:ALL: TIME[:TEST]?
1 2% [5]”+3.000000E+00” 2% 7~ 3R BT 75 B 18] A2 3 0

[SOURce:]SAFEty:RESult:ALL:TIME:RAMP? 25 1] [T 45 5 B8 HL iR _E T 28 155 | s T
A

21512 [SOURce:]SAFEty:RESult:ALL: TIME:RAMP?

1 413 [5]”+1.000000E+00” 2% 7~ 3 _b T+ 22 ¥ e e s AT /5 B 1) 2 3 0.

[SOURce:]SAFEty:RESult:ALL:TIME:FALL? Z5 6] T A D IR L i e B R R BE R BT
I

2151 [SOURce:]SAFEty:RESult:ALL: TIME:FALL?

1 213 [7]”+1.000000E+00” 2 7~ He FH 152 HL R B 2 R i i (8] 2 3 0.

[SOURce:]SAFEty:RESult:ALL: TIME:DWELI? 75 i1 it A3 25 BRI /) DWELL Ffr 75 B[] o
fir 215 7% [SOURce:]SAFEty:RESult:ALL: TIME:DWELI?
1 413 [7]”+2.500000E+00” 7 7~ Yl X (1Y) DWELL Ffr 75 B 8] A& 2.5 #5

[SOURce:]SAFEty:RESult:ALL:MODE? 2% i) it 75 5 B8 (1 i A =X
v 21574 [SOURce:]SAFEty:RESult:ALL:MODE?

25 iR [5]: {AC |DC | IR | PA | OS}<NL>.

1135 [5] DC I 227 24 il MODE % % 2 B J& DC =,

[SOURce:]SAFEty:RESult:COMPlete? 77 iH) {3 &% & 5 AT 5 AT e e il 20 % .
7 2 15 7% [SOURce:]SAFEty:RESult: COMPlete?
EUIR[EL: {0 | 1}<NL>,1 KIRTER, 0 KA TEML

[SOURce:]SAFEty:RESult:AREPort[:JUDGment][:MESSage] % & MR 45 W 5 /2 75 [
B3 Bl A S IR
T2 1572 [SOURce:]SAFEty:RESult:AREPort[:JUDGment][:MESSage] {{1 | ON}| {0 |
OFF}}

M E N ON B 1), P58 B IR 45 2.7 PASS” B FAIL” =45 B 508, 4
WEN OFF 83 0 B, AHEZNRMFELEHER,
15 7% [SOURce:]SAFEty:RESult:AREPort[:JUDGment][:MESSage]?
IR [A: {1 | 0}<NL>



[SOURce:]SAFEty:RESult:AREPort:OMETerage % 7 MR 45 )5 42 75 [ 3hik =]

OUTPUT METER il &5 5

T2 1572 [SOURce:]SAFEty:RESult:AREPort:OMETerage {{1 | ON}| {0 | OFF}}
ME N ON B 1B, P58 BOUE IR (BB A P BR 1 OUTPUT METER K45
S R AP RGP IRIE ORI, WIX 2P IR IR [7]+9.910000E+37; 41X 5E
N OFF 53 0 B, A EBhREIZ R,

A1) 1575 [SOURce:]SAFEty:RESult:AREPort:OMETerage?

i) IR [F]: {1 | O}<NL>

[SOURce:]SAFEty:RESult:AREPort:MMETerage % & MR SS 5 & 75 H 53R 1]

MEASURE METER 45 5 .

T4 1572 [SOURce:]SAFEty:RESult:AREPort:MMETerage {{1 | ON}| {0 | OFF}}
MV E N ON B 1B, WIR5E R 5 IR [B] B 20 B 1Y MEASURE METER 4K
iR, R H PRI RN, WX L5 PR IR [1]+9.910000E+37; 41X
JEN OFF 80 0 if, AN HEBR AR,

251575 [SOURce:]SAFEty:RESult:AREPort:MMETerage?

B IR [E: {1 | 0}<NL>

[SOURce:]SAFEty:RESult[:LAST][:JUDGment]? X if] 5 J5 — 25 B 1 ) il 45 51
v 21874 [SOURce:]SAFEty:RESult[:LAST][:JUDGment]?
Bk Al7116”, Foni)a — AP BRARGE R G, T ILEEEK .

[SOURce:]SAFEty:RESult:LAST:OMETerage? &1 if] it i — 1> +5 1% output meter BE1H .
i 21575 [SOURce:]SAFEty:RESult:LAST:OMETerage?
1 413 [7]”+5.100000E+01” K 7~ fie J5 — N0 % output meter 455 /& 0.051kV.

[SOURce:]SAFEty:RESult:LAST:MMETerage? & 1] 1 J5 — > L JF measure meter i3
.

A 1E7%: [SOURce:]SAFEty:RESult:LAST:MMETerage?

11 43 [1]7+6.1200000E-05" K 7~ ¢ Ji — 4~ 20 IR measure meter 45 52 0.612mA.

[SOURce:]SAFEty:RESult:STEP<n>[:JUDGment]? 25 )45 & 58 n (14 5145 5
i 21574 [SOURce:]SAFEty:RESult:STEP<n>[:JUDGment]?

Hrpn AT 1~99 +HtHIEdE, FHE.

flanim”116”, TP n HNGERNER, TERFERK.



[SOURce:]SAFEty:RESult:STEP<n>:0METerage? 71 )15 i€ 5 7% n output meter i521H .
i 21574 [SOURce:]SAFEty:RESult:STEP<n>:OMETerage?

11 a3 [A]”+5.100000E+01” 3R 7~ 22 B% n output meter 45 572 0.051kV.
[SOURce:]SAFEty:RESult:STEP<n>:MMETerage? 71 il 25 #¥ n measure meter 218 .
i 21575 [SOURce:]SAFEty:RESult:STEP<n>:MMETerage?

% 4ni& [A]”+6.1200000E-05" F 7525 B n measure meter )45 /& 0.612mA.

— BRI S5 RS R
I EE R ARG okl | 4GRS (-t
PASS 74 116
USER STOP 71 113
CAN NOT STOP | 72 114
TESTING 73 115
STOP 70 112
UGS RA RACRS R

AC MODE DC MODE IR MODE

HEX DEC HEX DEC HEX DEC
HI 11 17 21 33 31 49
LO 12 18 22 34 32 50
ARC 13 19 23 35 33
CHECK 25 37
LOW
TRIPPED | 79 121 79 121 79 121
RANGE 16 22 26 38 36 54
VOLT LOW | 16 22 26 38 36 54
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2.5 WA ZHZ LS

[SOURCce:]SAFEty:SNUMber? ] T 25 1f) ¢ & F1ll 0 B H .
fir 21875 [SOURce:]SAFEty:SNUMber?

AF IR [A]: <NR1><NL>

BIAnIR [\ +2” B FRoR L4 aT E 2 BE T 2 MNP IR,

[SOURce:]SAFEty:STEP<n>:DELete il [4:45 & 58 n.
fir 21875 [SOURce:|SAFEty:STEP<n>:DELete
Hern 2T 1~99 A-HHEdHUE.

[SOURce:]SAFEty:STEP<n>:SET? 5 45 & 5 B K% B 1A .

fir A1 V% [SOURce:]SAFEty:STEP<n>:SET?

IR ]
“1,AC,+5.000000E+01,+5.000000E-04,+8.000000E-06,+2.000000E-04, +3.000000E +

00,+1.000000E+00,+2.000000E+00,+3.000000E-04,(@(0)),(@(0)),1”

ELTIN

STEP:1,MODE:AC,VOLT:0.5kV,HIGH:0.500mA,LOW:0.008mA,ARC:2.0mA; TIME:3.0s,R

AMP:1.0s,FALL:2.0s,SCAN HIGH:0,SCAN LOW:0,DUT:1

ANTE AR TR M S AR, S8 T
STEP,AC,VOLT,HIGH,LOW,ARC, TIME,RAMP,FALL,CHH,CHL,DUT
STEP,DC,VOLT,HIGH,LOW,ARC, TIME,RAMP,FALL,DWELL,CHH,CHL,DUT
STEP,IR,VOLT,HIGH,LOW,TIME,RAMP,FALL,RANGE,CHH,CHL,DUT
STEP,0S,SHORT,OPEN,CHH,CHL,DUT

STEP,PA,MESSAGE,UNDER TEST SIGNAL,TIME

[SOURce:]SAFEty:STEP<n>:MODE? 5 )45 & 2 3% n (KR .

21512 [SOURce:]SAFEty:STEP<n>:MODE?
T if)3R [A]: {AC |DC |IR |OS | PA}<NL>
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2.6 AC X /ER G

[SOURce:]SAFEty:STEP<n>:AC[:LEVel] 1% i€ AT 22 IR AZ Vit i & FEL AE

[SOURCce:]SAFEty:STEP<n>:AC[:LEVel]? £ 1] FITidk 20 IR AT v i s FEL R A

fir A 1515 [SOURce:]SAFEty:STEP<n>:AC[:LEVel] <level>level j& NR3 #& =X,
level 7 [ /& 50~5000, Hf7A V.

B35 [SOURce:]SAFEty:STEP<n>:AC[:LEVel]?

By )R [A]: <NR3><NL>

[SOURce:]SAFEty:STEP<n>:AC:LIMit[:HIGH] % i& it 1% 5 8 <2 Jht i 1 dfs LIt b BR A
[SOURce:]SAFEty:STEP<n>:AC:LIMit[:HIGH] 2% 1] it % 25 TR A2 Vit i )5 Je L vt b PR AR o
AT 21512 [SOURce:]SAFEty:STEP<n>:AC:LIMit[:HIGH]<value>value & NR3 #% =\,

Y if)1E7E: [SOURce:]SAFEty:STEP<n>:AC:LIMit[:HIGH]?

25 H) 3% [7]: <NR3><NL>

pE

SAFEty:STEP1:AC:LIMit:HIGH 0.01 % & P 5R 1 HAZ Y & F it _EFR1E N 10mA.
SAFEty:STEP1:AC:LIMit:HIGH? T3 [7]+1.000000E-2 F7~+5 18 1 HAZ A & IR
T IR{EZ 10mA

[SOURce:]SAFEty:STEP<n>:AC:LIMit:LOW 5 7E JIT 1% +5 B8 A2 it i s I FEL IR BRAE
[SOURce:]SAFEty:STEP<n>:AC:LIMit:LOW? £ i) T8 25 BR A2 vt i T Ji FEL IR BRAEL o
T 215 7% [SOURce:]SAFEty:STEP<n>:AC:LIMit:LOW<value>value & NR3 #% =\,
)i V% [SOURce:]SAFEty:STEP<n>:AC:LIMit:LOW?

By )R [A]: <NR3><NL>

i 4

SAFEty:STEP1:AC:LIMit:LOW 0.0001 % & J% 1 HAZ MY & R T BR{E N 0.1mA.
SAFEty:STEP1:AC:LIMit:LOW? 7 #]i% [F]+1.000000E-4 K7~ BF 1 HAZ i J& HLIR
TERME 2 0.1mA

[SOURce:]SAFEty:STEP<n>:AC:LIMit:ARC[:LEVel] 1% 5& JiT % 5 B8 A2 it & FEL 9K ARC
K 4 . [SOURce:]SAFEty:STEP<n>:AC:LIMit:ARC[:LEVel]? 2% 1) T 1% 5 BRAZ Vit Hs .
51K ARC A6
7 2 15 7% [SOURce:]SAFEty:STEP<n>:AC:LIMit:ARC[:LEVel] <value>

value /& NR3 #%z{
)i V% [SOURce:]SAFEty:STEP<n>:AC:LIMit:ARC[:LEVel]?
By i) iR [A]: <NR3><NL>

12



[SOURce:]SAFEty:STEP<n>:AC:TIME[:TEST] % i& JiT 1% 5 TR AL At it s W sk 1]
[SOURce:]SAFEty:STEP<n>:AC:TIME[:TEST]? 7% ik 5 B8 A2 YAt i ) I 2k, B ] o
iy 21575 [SOURce:]SAFEty:STEP<n>:AC:TIME[:TEST] <time> time #& NR3 /% =\,
5 )iE V% [SOURce:]SAFEty:STEP<n>:AC: TIME[:TEST]?

By i) iR [A]: <NR3><NL>

i an:

SAFEty:STEP1:AC:TIME:TEST 3 ¥ DB 1 HAZ Yt Ml aX A (] A 3s.
SAFEty:STEP1:AC:TIME:TEST? ¥ 3% [4]+3.000000E+00 7~ H i [A] 2 3s.

[SOURce:]SAFEty:STEP<n>:AC:TIME:RAMP % 7E I %t 25 IR A8 VAt i [ b T[] o
[SOURce:]SAFEty:STEP<n>:AC:TIME:RAMP? 7 i T i 25 SR A Vi it J&. b THisF 1)
fir 218 7%:[SOURce:]SAFEty:STEP<n>:AC: TIME:RAMP<time> time J& NR3 & =

5 )iE V% [SOURce:]SAFEty:STEP<n>:AC:TIME:RAMP?

By )i [A]: <NR3><NL>

4

SAFEty:STEP1:AC:TIME:RAMPO.2 & AP 38 1 HAZ VL e b+ (A4 0.2s.
SAFEty:STEP1:AC:TIME:RAMP? 7 1f]i% [7]+2.000000E-01 &7~ H: T[] 42 0.2s.

[SOURce:]SAFEty:STEP<n>:AC:TIME:FALL % & JIT i 5 B A2 it J. B st [a]
[SOURce:]SAFEty:STEP<n>:AC:TIME:FALL? 2 11l fITi%k A5 IR AS VAL i 1 T P&t [

i 21574 [SOURce:]SAFEty:STEP<n>:AC:TIME:FALL<time>time & NR3 % z{
1) 1572 [SOURce:]SAFEty:STEP<n>:AC: TIME:FALL?

25 H) 3% [7]: <NR3><NL>

il an:

SAFEty:STEPL1:AC:TIME:FALL 0.1 15 5€ 2P 3R 1 HATUIN & FEIS [A] 24 0.1s.
SAFEty:STEP1:AC:TIME:FALL? ¥ if]i% [(]+1.000000E-01 37~ H T B#H [A] 2 0.1s.

[SOURce:]SAFEty:STEP<n>:AC:CHANnel[:HIGH] 1% & 334 32k i 1 oy B TR AS .
[SOURce:]SAFEty:STEP<n>:AC:CHANnel[:HIGH]? 7% 1 433 I 2k, 55 1 4 HH i TR S o
7 2 1572 [SOURce:]SAFEty:STEP<n>:AC:CHANnel[:HIGH] (@(ch,ch,..))

)57 [SOURce:]SAFEty:STEP<n>:AC:CHANnel[:HIGH]?

ApE

SAFEty:STEP1:AC:CHANnel:HIGH (@(1,3))F /5K 20 B8 1 HAF 40 H 3 1
T8 1 FEE 3 B E N HIGH St .

SAFEty:STEP1:AC:CHANNel:HIGH (@(0)) /KP4 1 H ATl H im TE 1
HIGH 7=y H (118 18 ¥ B N 95 4] OFF.
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SAFEty:STEP1:AC:CHANnel:HIGH? iR [al(@(1,3)) 2~ A2 B 1 FHATF8 I 12y L I8 38 1Y
EIE 1 FIEE 3 /2 HIGH S .

[SOURce:]SAFEty:STEP<n>:AC:CHANnel:LOW % 5E 345132, LOW #i H E B IR S
[SOURce:]SAFEty:STEP<n>:AC:CHANnel:LOW? 5 ] $ 3 I LOW Fiy il IR A
AT 21574 [SOURce:]SAFEty:STEP<n>:AC:CHANnel:LOW (@(ch,ch,..))

T 1H) 1575 [SOURce:]SAFEty:STEP<n>:AC:CHANnel:LOW?

ApE

SAFEty:STEP1:AC:CHANnel:LOW (@(2,4)) R 0B 1 HA 3G H 18 18 1) a8
18 2 FIEIE 4 BN LOW 5T

SAFEty:STEP1:AC:CHANnel:LOW (@(0)) K K058 1 HAA#E @ iE i) Low
RS0 S 110 T8 152 B N K OFF

SAFEty:STEP1:AC:CHANnel:LOW? R [0l(@(2,4)) 3~ 58 1 H AR50 H e i 11
HIE 2 FEIE 4 5 LoW {KH .

2.7 DC B /ERZ S

[SOURce:]SAFEty:STEP<n>:DC[:LEVel] 1% 7€ FITi% 0 I EL ity & Fe R 4H

[SOURCce:]SAFEty:STEP<n>:DC[:LEVel]? £ 1] fTi% A5 B8 Byt i & B B4 o

fir 21575 [SOURce:]SAFEty:STEP<n>:DC[:LEVel] <level> level & NR3 #% 2
level YT /& 5076000, HA7 N V.

2511515 [SOURce:]SAFEty:STEP<n>:DC[:LEVel]?

)ik [A]: <NR3><NL>

[SOURce:]SAFEty:STEP<n>:DC:LIMit[:HIGH] 1% 5& fiIT % 25 B8 L IAt it 1 I H vt b FR AL o
[SOURce:]SAFEty:STEP<n>:DC:LIMit[:HIGH] ? £ 1 T4 25 B8 B VAt it s Js B vt b PR AR
A 21512 [SOURce:]SAFEty:STEP<n>:DC:LIMit[:HIGH]<value>value #& NR3 1%z

7Y 115 77:: [SOURce:]SAFEty:STEP<n>:DC:LIMit[:HIGH]?

25 f) 3% [7]: <NR3><NL>

ApE

SAFEty:STEP2:DC:LIMit:HIGH 0.003 ¥ € 0 B 2 H Bt & B _FFRAE N 3mA.
SAFEty:STEP2:DC:LIMit:HIGH? )i [7]+3.000000E-3 F 7~ 5 B8 2 H B A i K H i
ERIEZ 3mA

[SOURce:]SAFEty:STEP<n>:DC:LIMit:LOW & 5E FIT %5 20 B8 B it i R i FEL I 1 BRAE o
[SOURce:]SAFEty:STEP<n>:DC:LIMit:LOW? %% 1] T i 5 B L IR FE I FEL VAL T PRAE
i 21574 [SOURce:]SAFEty:STEP<n>:DC:LIMit:LOW<value>value #& NR3 %1
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)i V% [SOURce:]SAFEty:STEP<n>:DC:LIMit:LOW?

By )i [A]: <NR3><NL>

4

SAFEty:STEP2:DC:LIMit:LOW 0.00001 ¥ 7 P B 2 H Byt [k HL L T FR{E A 0.01mA.
SAFEty:STEP2:DC:LIMit:LOW? 753 [7]+1.000000E-5 7~ 5% 2 H BLM & FL iR
FERAE AL 0.01mA

[SOURce:]SAFEty:STEP<n>:DC:LIMit:ARC[:LEVel] ¥ 5& fITi% 5 1% BL At & L9 ARC
¥ 1E - [SOURce:]SAFEty:STEP<n>:DC:LIMit:ARC[:LEVel] 275 1) T ik +5 B8 LI 1k H
5 ARC A
A 215122 [SOURce:]SAFEty:STEP<n>:DC:LIMit:ARC[:LEVel] <value>

value #& NR3 1%z
)i V% [SOURce:]SAFEty:STEP<n>:DC:LIMit:ARC[:LEVel]?
By )i [A]: <NR3><NL>

[SOURce:]SAFEty:STEP<n>:DC:TIME[:TEST] 13 /& FIT% 25 18 B It i 1 00 3k st 1) o
[SOURce:]SAFEty:STEP<n>:DC:TIME[:TEST]? % 1) T 126 45 18 B 37 I F 0 sk 1]
AT 2 15722 [SOURce:]SAFEty:STEP<n>:DC:TIME[:TEST] <time> time #& NR3 #% =\,
7Y 115 72:: [SOURce:]SAFEty:STEP<n>:DC:TIME[:TEST]?

Y] 3R [1]: <NR3><NL>

il an:

SAFEty:STEP2:DC:TIME:TEST 3 13 A J& 2 FH B At H MK 7] 3s.
SAFEty:STEP2:DC:TIME:TEST? £ if] % [1]+3.000000E+00 % 7~ F il i H 8] /& 3s.

[SOURce:]SAFEty:STEP<n>:DC:TIME:RAMP ¥ 5E it ik 5 8% EL I i b T1-Bsf Ja] o
[SOURce:]SAFEty:STEP<n>:DC:TIME:RAMP? 2% ) it idk 45 8 B i &b T ] o
iy 21575 [SOURce:]SAFEty:STEP<n>:DC:TIME:RAMP <time> time #& NR3 #&% 1\,

5 ) iE V% [SOURce:]SAFEty:STEP<n>:DC:TIME:RAMP?

By i) iR [A]: <NR3><NL>

G-

SAFEty:STEP2:DC:TIME:RAMP 0.2 % €058 2 H E it & B [a] 4 0.2s.
SAFEty:STEP2:DC:TIME:RAMP? %3 f]i% [7]+2.000000E-01 7~ [ FHHf[A] /& 0.2s.

[SOURce:]SAFEty:STEP<n>:DC:TIME:FALL % i& JITi%k 5 1% BLAL N 15 T PR ]
[SOURce:]SAFEty:STEP<n>:DC:TIME:FALL?ZS 1] i ik A U BN 5 1 [ ] o
21574 [SOURce:]SAFEty:STEP<n>:DC:TIME:FALL <time> time & NR3 #% z{
) iE V% [SOURce:]SAFEty:STEP<n>:DC:TIME:FALL?
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By i) iR [A]: <NR3><NL>

i an:

SAFEty:STEP2:DC:TIME:FALL 0.1 ¥ & A2 3% 2 H EL VLMY T B (A4 0.1s.
SAFEty:STEP2:DC:TIME:FALL? ¥ 3% [2]+1.000000E-01 &7~ H N B&H 8] /& 0.1s.

[SOURce:]SAFEty:STEP<n>:DC:TIME:DWELI 15 5E T 1%k 5 B8 B I I s 45 452 B[] o
[SOURce:]SAFEty:STEP<n>:DC:TIME:DWELI? T 1] FT ik A5 B8 B V7 i 1 4 52 15k [

i 21574 [SOURce:]SAFEty:STEP<n>:DC: TIME:DWELI<time> time #& NR3 £% =\,

1) 1572 [SOURce:]SAFEty:STEP<n>:DC:TIME:DWELI?

25 H) 3% [7]: <NR3><NL>

pE

SAFEty:STEP2:DC:TIME:DWELI 1.0 1% € 20 5% 2 H E i R FF ST 8] 4 1.0s.
SAFEty:STEP2:DC:TIME:DWELI? %% )3 [#]+1.000000E+00 7~ HFF 4L 8] /2 1.0s.

[SOURce:]SAFEty:STEP<n>:DC:CHANnel[:HIGH] % 5& 345 91328 i 1 HH I TR 2 o
[SOURce:]SAFEty:STEP<n>:DC:CHANnel[:HIGH]? 25 1373 I i 1 g HH @ TR S
7 21572 [SOURce:]SAFEty:STEP<n>:DC:CHANnel[:HIGH] (@(ch,ch,..))

5 )i V% [SOURce:]SAFEty:STEP<n>:DC:CHANnNel[:HIGH]?

ApE

SAFEty:STEP2:DC:CHANnel:HIGH (@(1,3)) FR/a¥ 05 2 FHA# G H 1@ iE )8
T 1 AETE 3 BN HIGH St

SAFEty:STEP2:DC:CHANnel:HIGH (@(0)) #4425 2 HAmh i 8 i
HIGH 7=y H (118 18 ¥ B 9 95 4] OFF.

SAFEty:STEP2:DC:CHANnel:HIGH? & [Hl(@(1,3)) 37~ A2 3R 2 HAT Sl I HH a1
JEIE 1 FUEIE 3 /2 HIGH & .

[SOURce:]SAFEty:STEP<n>:DC:CHANnel:LOW ¢ 5& $ 3451328 LOW #i H il IE IR S
[SOURce:]SAFEty:STEP<n>:DC:CHANnel:LOW? #3351 LOW %t BB R AS .
AT 21574 [SOURce:]SAFEty:STEP<n>:DC:CHANnel:LOW (@(ch,ch,..))

5 )i V% [SOURce:]SAFEty:STEP<n>:DC:CHANnel:LOW?

ApE

SAFEty:STEP2:DC:CHANNel:LOW (@(2,4)) FaxK DB 2 HA 5 H 18 1) i8
18 2 FIEIE 4 B N LOW K5 H

SAFEty:STEP2:DC:CHANnNel:LOW (@(0)) R~ 538 2 HA 3 Ik H @ & 1) Low
RS0 B IR0 T8 152 B N K OFF

SAFEty:STEP2:DC:CHANnel:LOW? & [Bl(@(2,4)) K~ A2 5% 2 HAAR I th 1/ 1E 1)
HIE 2 FEIE 4 5 LoW {KH .
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2.8 IR 544 -1 & L5

[SOURCce:]SAFEty:STEP<n>:IR[:LEVel] ¥ 5E FIT % 25 B 26 25 v, BELIUN R FiL R A

[SOURce:]SAFEty:STEP<n>:IR[:LEVel]? 7 1] Fr ik 2 B 2t 2% v, BEL 48 F A

215 V% [SOURce:]SAFEty:STEP<n>:IR[:LEVel] <level> level & NR3 #&
level 3 [ /& 50~1000, HAf7H V.

T 1H) 15 V% [SOURce:]SAFEty:STEP<n>:IR[:LEVel]?

By )R [A]: <NR3><NL>

[SOURce:]SAFEty:STEP<n>:IR:LIMit:HIGH 15 5E i ik +5 B 466 2% L BH 1 PRAH .
[SOURce:]SAFEty:STEP<n>:IR:LIMit[:HIGH] ? 7% 1] Fir ik 5 8 446 2% e BH._F PR AR .

i 21574 [SOURce:]SAFEty:STEP<n>:IR:LIMit:HIGH<value>value #& NR3 #% X
1153 [SOURce:]SAFEty:STEP<n>:IR:LIMit:HIGH?

25 H) 3% [7]: <NR3><NL>

pE

SAFEty:STEP3:IR:LIMit:HIGH 1.0e+10 ¥ & 2 ¥§ 3 H 482 FifH - [R{E N 10GQ.
SAFEty:STEP3:IR:LIMit:HIGH? ¥ [7]+1.000000E+10 7~ A2 B 3 Ho A 25 FifH [ [R
H /& 10GQ.

[SOURce:]SAFEty:STEP<n>:IR:LIMit[:LOW] % iE JiT % 25 T 444 25 v B PR A
[SOURce:]SAFEty:STEP<n>:IR:LIMit[:LOW]? 2 1 fTi%k A5 B8 444 2 B FH. 1 PRAH

AT 2154 [SOURce:]SAFEty:STEP<n>:IR:LIMit[:LOW]<value>value /& NR3 %3
)i V% [SOURce:]SAFEty:STEP<n>:IR:LIMit[:LOW]?

By )R [A]: <NR3><NL>

il an:

SAFEty:STEP3:IR:LIMit:LOW 100000000 % & 22 3§ 3 H 482 Hi[H T [R{E N 100MQ.
SAFEty:STEP3:IR:LIMit:LOW? 7 #1i% [F]+1.000000E+08 7~ 20 B 3 H 4 2 HiH T R
{2 100MQ

[SOURce:]SAFEty:STEP<n>:IR:TIME[:TEST] 1% 7& FlT 1% 5 B8 244 25 e BEL 032X Fsf 1]
[SOURce:]SAFEty:STEP<n>:IR:TIME[:TEST]? 7 i Jir 1% +5 B 4 2% e BELR N A1) o
fiir 21575 [SOURce:]SAFEty:STEP<n>:IR:TIME[: TEST] <time> time #& NR3 #% 1\,
) iE V% [SOURce:]SAFEty:STEP<n>:IR:TIME[:TEST]?

By i) iR [A]: <NR3><NL>

4

SAFEty:STEP3:IR:TIME:TEST 3 W& A2 B8 3 H 48 2 A BT (8] 4y 3s.
SAFEty:STEP3:IR:TIME:TEST? %3 [7]+3.000000E+00 7~ Hoil ki 1] /2 3s.
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[SOURce:]SAFEty:STEP<n>:IR:TIME:RAMP ¥ 7€ fiTi%k +5 IR 4 2 HiLBH. | T[]
[SOURce:]SAFEty:STEP<n>:IR:TIME:RAMP? £ i fITi% 5 B8 441 2 B BH. | T[]
i 21575 [SOURce:]SAFEty:STEP<n>:IR:TIME:RAMP <time> time & NR3 #% z{
)i V% [SOURce:]SAFEty:STEP<n>:IR:TIME:RAMP?

By i) iR [A]: <NR3><NL>

G-

SAFEty:STEP3:IR:TIME:RAMP 0.2 15 & 0¥ 3 HAa & HH A [A] 4 0.2s.
SAFEty:STEP3:IR:TIME:RAMP? 7Y ] []+2.000000E-01 F& 7~ H: - FHH a] /2 0.2s.

[SOURce:]SAFEty:STEP<n>:IR:TIME:FALL ¥ & JITi% 5 IR 206 2% v [FH. T BB 1] .
[SOURce:]SAFEty:STEP<n>:IR:TIME:FALL? 2 1 T ik +5 13 41 2 HLBHL TS P4 [H]

i 215 7% [SOURce:]SAFEty:STEP<n>:IR:TIME:FALL <time> time #& NR3 #& =\,
515 [SOURce:]SAFEty:STEP<n>:IR:TIME:FALL?

By )i [A]: <NR3><NL>

4

SAFEty:STEP3:IR:TIME:FALL 0.1 & &9 3 H A4 Al T FE I [A] 0.1,
SAFEty:STEP3:IR:TIME:FALL? Y 1f]i% [7]+1.000000E-01 7~ H T [&H} 7] )2 0.1s.

[SOURCce:]SAFEty:STEP<n>:IR:AGC 1% i& FIT 5 0 U5 AGC Y 25 H 2l A BT 5% .
[SOURce:]SAFEty:STEP<n>:IR:AGC? A 1] T i 2P R AGC FHENE & H B A B O
#ir 21815 [SOURce:]SAFEty:STEP<n>:IR:AGC {{1 | ON}| {0 | OFF}}

115 [SOURce:]SAFEty:STEP<n>:IR:AGC?

IR [A: {1 | 0}<NL>

[SOURce:]SAFEty:STEP<n>:IR:RANGe[:UPPer] ¥ 5E T ik A B8 466 25 el BHL I B 2 o

[SOURce:]SAFEty:STEP<n>:IR:RANGe[:UPPer] 27 ifi T it 2 B 4 5 v [H IR B A2

7 2 1 7% [SOURce:]SAFEty:STEP<n>:IR:RANGe[:UPPer] <value>
e A AR YRS 2 S A\ P AR, SRIGE S T i Re I S 22 . a0
SAFEty:STEP3:IR:RANG 0.0003 K7~ 9% 3 Ref Il & 1) F i fE /& 300uA, FrlA
DU 3 B s T FR AL AR B 1Y) AR 2 3mA.

Y if) 1575 [SOURce:]SAFEty:STEP<n>:IR:RANGe[:UPPer]?

23R [A]: <NR3><NL>

5 413% [7]+3.000000E-03 R/~ H 13 5E I EFESE 3mA.

[SOURce:]SAFEty:STEP<n>:IR:RANGe:LOWer ¥ 5E T 5 B 4t 25 o PR & R
[SOURce:]SAFEty:STEP<n>:IR:RANGe:LOWer? 1] il ik b B 41 2 fp B IR B 7
T 2 15 7% [SOURce:]SAFEty:STEP<n>:IR:RANGe:LOWer<value>
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I AR YRS 2 s N P AE, SRIGEUR T By prae I & &2 . 40
SAFEty:STEP3:IR:RANG:LOW 0.0003 K/~ BE 3 eI & 1 L {5 /2 300uA,
FIt DA B 408 3 BYAEG T+ 1% L U B D 2 1) S 2 42 300uA.

5 )iE V% [SOURce:]SAFEty:STEP<n>:IR:RANGe:LOWer?

By i) iR [A]: <NR3><NL>

4113 [7]+3.000000E-04 2% 7~ H 15 5% ) 5 A2 /& 300uA.

[SOURce:]SAFEty:STEP<n>:IR:RANGe:AUTO 15 5E fITide U B 268 2% Wi [H. H B &2 T % .
[SOURce:]SAFEty:STEP<n>:IR:RANGe:AUTO? i) it b B 46 4% v [H H Bh BT 5.
i 21574 [SOURce:]SAFEty:STEP<n>:IR:RANGe:AUTO {{1 | ON}| {0 | OFF}}

7Y )15 72 [SOURce:]SAFEty:STEP<n>:IR:RANGe:AUTO?

IR [A: {1 | 0}<NL>

[SOURce:]SAFEty:STEP<n>:IR:CHANnel[:HIGH] 15 & 33 M2k i 16 A il IR A o
[SOURce:]SAFEty:STEP<n>:IR:CHANnel[:HIGH]? 2 )3l 5 T Il TEIR S
i 2 1572 [SOURce:]SAFEty:STEP<n>:IR:CHANnel[:HIGH] (@(ch,ch,..))

5 )i V% [SOURce:]SAFEty:STEP<n>:IR:CHANnel[:HIGH]?

i an:

SAFEty:STEP3:IR:CHANnel[:HIGH] (@(1,3)) FK/~¥ 53R 3 HATHh Il ida Hh a1 18
H 1 AETE 3 BN HIGH St

SAFEty:STEP3:IR:CHANnel[:HIGH] (@(0)) K /~K 23R 3 HAaH il a4y 18 3E 1)
HIGH 7=y H (1118 18 ¥ B 9 95 4] OFF.

SAFEty:STEP3:IR:CHANnel[:HIGH]? iR [Bl(@(1,3))2 A2 58 3 FoA= 4 th i i
[RIEIE 1 AEIE 3 /& HIGH S .

[SOURce:]SAFEty:STEP<n>:IR:CHANnel:LOW ¥ & 1351, LOW % H B IR AS .
[SOURce:]SAFEty:STEP<n>:IR:CHANNnel:LOW? ZX i3 Low Hy B EIR A .
AT 21574 [SOURce:]SAFEty:STEP<n>:IR:CHANnel:LOW (@(ch,ch,..))

5 )iE V% [SOURce:]SAFEty:STEP<n>:IR:CHANnel:LOW?

G-

SAFEty:STEP3:IR:CHANnel:LOW (@(2,4)) FR/~¥ 05 3 H A% H 18 18 )
18 2 FIEIE 4 B N LOW 5T

SAFEty:STEP3:IR:CHANnel:LOW (@(0)) K/~ 98 3 HAAHh I Far i 1818 1) Low
IS0 B IR0 T8 152 B N K OFF

SAFEty:STEP3:IR:CHANnel:LOW? IR [Fl(@(2,4)) 3R~ 5 3 HA i 8 i
HIE 2 FIEIE 4 A LOW {KH i .
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2.90S JTHEE R Fr$

[SOURce:]SAFEty:STEP<n>:0SC[:LIMit]:OPEN % 7€ FTiE 20 B OS I T i ) 87 i
PEMIE 7 e . [SOURce:]SAFEty:STEP<n>:OSC[:LIMit]:OPEN? 7 i JT 2% ) it T 14
e NER A=

i 215 7% [SOURce:]SAFEty:STEP<n>:0SC[:LIMit]:OPEN <value> value #& NR3 #& =\,
5 )iE V% [SOURce:]SAFEty:STEP<n>:0SC[:LIMit]:OPEN?

By )R [A]: <NR3><NL>

i 2

SAFEty:STEP4:0SC:LIM:OPEN 0.3 & & % 4 Wr Bt 152 5 11 H 43 EE A 30%.
SAFEty:STEP4:0SC:LIM:OPEN? & [1]+3.000000E-01 75~ T 4% 1 it AT 15 5 1 7 20 b
N 30%.

[SOURce:]SAFEty:STEP<n>:0SC[:LIMit]:SHORt 1% i& fTi% 25 38 OS i 45 4% ) e B
BEAE I 43 ELAB  [SOURce:]SAFEty:STEP<n>:0SC[:LIMit]:SHORt?2F 1) 45 4% 1) Wt Fr 158
E A 7 A

i 215 7% [SOURce:]SAFEty:STEP<n>:0SC[:LIMit]:SHORt<value> value #& NR3 #& =\,
51115 12::[SOURce:]SAFEty:STEP<n>:0SC[:LIMit]:SHORt?

By )R [A]: <NR3><NL>

i 2

SAFEty:STEP4:0SC:LIM:SHORt3.0 5 5 %5 1% | W7 By % 22 1) H 4 o 300% o
SAFEty:STEP4:0SC:LIM:SHORt?3& [1]+3.000000E+00 7% %6 4% 1| it AT ¥ 52 1 1 70 L
N 300%.

[SOURCce:]SAFEty:STEP<n>:0SC:GET AT Firie 2 3§ OS M i SR BUPR1HE LI RE
fir 218 7%:[SOURce:]SAFEty:STEP<n>:0SC:GET i 2 i T AT — R SR B bR i (Get
Cs)MA, FERIRSh IR 5 A briE A

[SOURce:]SAFEty:STEP<n>:0SC:CHANNel[:HIGH] % 7& 33 I v 1k HY B T IR A
[SOURce:]SAFEty:STEP<n>:0SC:CHANnNel[:HIGH]? £ 1 F3 3 MR 5 75 fa H il TE IR A .
iy 21575 [SOURce:]SAFEty:STEP<n>:0SC:CHANnel[:HIGH] (@(ch,ch,..))

5 ) iE V% : [SOURce:]SAFEty:STEP<n>:0SC:CHANnel[:HIGH]?

4

SAFEty:STEP4:0SC:CHANnel[:HIGH] (@(1,3)) xR B3R 4 HATH il ol 18 38 1
WHIE 1 MEE 3 W E N HIGH =i

SAFEty:STEP4:0SC:CHANnel[:HIGH] (@(0)) Kb B 4 FA=Hh il oy 18 38 1
HIGH 7=y H (118 18 ¥ B 9 95 4] OFF.
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SAFEty:STEP4:0SC:CHANnel[:HIGH]? iR [l(@(1,3))#/~ 0 B 4 FL A5 i i
f3EIE 1 AEIE 3 2 HIGH mjii

[SOURce:]SAFEty:STEP<n>:0SC:CHANnel:LOW 1 5& F i iR Low %y @ iR 2 .
[SOURce:]SAFEty:STEP<n>:0SC:CHANnel:LOW? 7 #4331 Low fiy @ E IR A .
1T 2 15 7% [SOURce:]SAFEty:STEP<n>:0SC:CHANnel:LOW (@(ch,ch,..))

)15 75 [SOURce:]SAFEty:STEP<n>:0SC:CHANnel:LOW?

ApE

SAFEty:STEP4:0SC:CHANNel:LOW (@(2,4)) F/~Fi A0 B 4 H AR50 4 H 1 ria
18 2 FIEIE 4 BN LOW 5T

SAFEty:STEP4:0SC:CHANnel:LOW (@(0)) F/~FiD 0% 4 H AR5 H @ iE 1)
LOW i Hh (138 18 v B N < OFF.

SAFEty:STEP4:0SC:CHANnel:LOW? i [H](@(2,4)) 3/~ 58 4 HATH e Hi 18
(R IE 2 FIEIE 4 /2 LOW K% H

2.10 PA EZm4

[SOURce:]SAFEty:STEP<n>:PAuse[:MESSage] /| T % & message 15 B 75 .
[SOURce:]SAFEty:STEP<n>:PAuse[:MESSage]? £ 1f] message 15 B 7455 & o
1T 21574 [SOURce:]SAFEty:STEP<n>:PAuse[:MESSage] “message”
VER: message AT XG5,
5 )iE V% [SOURce:]SAFEty:STEP<n>:PAuse[:MESSage]?
)3 [F]: <”message”><NL>3k [ 4 B A W5 5 .

[SOURce:]SAFEty:STEP<n>:Pause:UTSIgnal ¥ i€ under test signal IRZ% .
[SOURce:]SAFEty:STEP<n>:Pause:UTSIgnal? 2 if] under test signal K7
T 21574 [SOURce:]SAFEty:STEP<n>:Pause:UTSIgnal {{1 | ON}| {0 | OFF}}
B 1H) 1574 [SOURce:]SAFEty:STEP<n>:Pause:UTSIgnal?

IR {0 | 1}<NL>

[SOURce:]SAFEty:STEP<n>:Pause:TIME & PA MR I 75 I [A] .
[SOURce:]SAFEty:STEP<n>:Pause:TIME? 2 #] PA WUl ol 75 1 [

T2 15722 [SOURce:]SAFEty:STEP<n>:Pause:TIME<time> time #& NR3 #% =\,
5 1H) 15 V22 [SOURce:]SAFEty:STEP<n>:Pause:TIME?

53R [5]: <NR3><NL>

%1 Ur: SAFEty:STEPS:PA:TIME 5 W E B BE 5 11 PA MRS 8] 4 5s.
SAFEty:STEP5:PA:TIME?iX [5] 5.000000E+00 7538 5 13 15 5 i 1] /& 5s.
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2.11 PRESET W& B Z% 4

[SOURCce:]SAFEty:PRESet:TIME:PASS F -1 i€ PASS o H&: NS £ e 75 RF 42 ]
[SOURce:]SAFEty:PRESet: TIME:PASS? £x 1] PASS HiJ 14 1S 28 i) 75 475 452 ) (1] .

fir 218 7%:[SOURce:]SAFEty:PRESet: TIME:PASS<time>time & NR3 k&=, i1 [ 2
0.2~99.9s

2511575 [SOURce:]SAFEty:PRESet: TIME:PASS?

LY i) IR [A]:<NR3><NL>

i

SAFE:PRES:TIME:PASS 1.0 % iE PASS s} g 2% ni) 75 Fr 4L [R] Ry 1s.
SAFE:PRES:TIME:PASS?3X [f] 1.000000E+00 7~ PASS s NS 28 i) 75 F¢ L I [H] /& 1.

[SOURce:]SAFEty:PRESet:TIME:STEP F T~ 5 iR 25 15 18] (1) 1) g B 1) o
[SOURce:]SAFEty:PRESet:TIME:STEP? 7 113X 21 38 7] 1) 1] B sk ]
215 7% [SOURce:]SAFEty:PRESet:TIME:STEP{time | KEY}
time J& NR3 1%, Ju /£ 0.0~99.9s
11575 [SOURce:]SAFEty:PRESet: TIME:STEP?
713 [7]:{NR3 | KEY}<NL>
i
SAFEty:PRESet: TIME:STEPO.5 5 5 il i 22 B 1] 1 [ B i [7] /9 0.5s6
SAFEty:PRESet: TIME:STEP?3 [H] 5.000000E-01 7% 7~ I A B8 8] ) 1] [ BN A 2 0.5s.6

[SOURce:]SAFEty:PRESet:TIME:SDELay T 15 5& MR J5 5 51 1) ZE i s ]
[SOURce:]SAFEty:PRESet:TIME:SDELay? £ #)illiak 5 ) Aij ) ZE s Bsf ] o
fir 415V [SOURce:]SAFEty:PRESet: TIME:SDELay<time>
time #& NR3 %20, Ju [ 2& 0.0~99.9s
)55 [SOURce:]SAFEty:PRESet:TIME:SDELay?
5 1)3% [A] :<NR3><NL>
4
SAFEty:PRESet:TIME:SDEL 0.5 5 & M J5 20 Hif i ZE i) s ] 9 0.5s6
SAFEty:PRESet: TIME:SDEL?3% [7] 5.000000E-01 &7~ M5 ) Aif FE) ZE S Bsf 7] /2 0.5s.

[SOURce:]SAFEty:PRESet:RIUDgment F % 5& b TIBsf [a] 1 B T RETT 5% .
[SOURce:]SAFEty:PRESet:RIUDgment? 5 b FHif [a] 0 B T RETF %

1 21574 [SOURce:]SAFEty:PRESet:RJUDgment {{1 | ON}| {0 | OFF}}
251575 [SOURce:]SAFEty:PRESet:RIUDgment?

IR {0 | 1}<NL>
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[SOURce:]SAFEty:PRESet:AC:FREQuency [T & A2 i IS iR A5 5 4% .
[SOURce:]SAFEty:PRESet:AC:FREQuency? 32 il & MRS S 4%
fir 2 15 7% [SOURce:]SAFEty:PRESet:AC:FREQuency {50 | 60}

By 1) 1572 [SOURce:]SAFEty:PRESet:AC:FREQuency?

iR [A]: {50 | 60}<NL>

i

SAFEty:PRESet:AC:FREQuency 50 15 & 22 Jit i & JE 5 3% & 50Hz.
SAFEty:PRESet:AC:FREQuency? i [7] 5.000000E+01 /R4 j& 50Hz.

[SOURce:]SAFEty:PRESet:WRANge[:AUTO] ] -1 & i [ I EH s B AR T 5% .
[SOURce:]SAFEty:PRESet:WRANge[:AUTO]? it it [l iR B sh & FE I 5% .
T4 172 [SOURce:]SAFEty:PRESet: WRANge[:AUTO] {{1 | ON}| {0 | OFF}}

P 1H) 15 V% [SOURce:]SAFEty:PRESet:WRANge[:AUTO]?

B IR [E]: {0 | 1}<NL>

[SOURce:]SAFEty:PRESet:DAGC F T~ 15 & DC50V Ml 134 2 B 2l i BT .
[SOURce:]SAFEty:PRESet:DAGC? ¥ f] DC50V M1 75 H 5 HETF 5% o

AT 2 154 [SOURce:]SAFEty:PRESet:DAGC {{1 | ON}| {0 | OFF}}

Y if) 1575 [SOURce:]SAFEty:PRESet:DAGC?

Erf)IR[A): {0 | 1}<NL>

[SOURCce:]SAFEty:PRESet:GFI[:SWITch] F T 1% & GFI filt L LR 47 %
[SOURce:]SAFEty:PRESet:GFI[:SWITch]? 7 if] GFI fil LRI I
T4 1575 [SOURce:]SAFEty:PRESet:GFI[:SWITch] {{1 | ON}| {0 | OFF}}
P 1H) 15V [SOURce:]SAFEty:PRESet:GFI[:SWITch]?

B IR [E]: {0 | 1}<NL>

[SOURce:]SAFEty:PRESet:FAIL[:OPERation] -1 & MliR AN &4% FAIL fG IBhAE
[SOURce:]SAFEty:PRESet:FAIL[:OPERation]? Zrifjillik AN &4 FAIL 5 HIBH1E .
Ak
[SOURce:]SAFEty:PRESet:FAIL[:OPERation]{STOP|CONTinue | RESTart | NEXT }
Hr: STOP Rt IEIIRK;
CONTinue R4k 22 ;
RESTart /x4 FAIL J5, F4% T~ START JUJEE il ik ;
NEXT R/ KA FAIL J5, FHEZ T START $AT F—2 k.
115 7% [SOURce:]SAFEty:PRESet:FAIL[:OPERation]?
T iH)3R [A]: {STOP|CONTINUE | RESTART | NEXT}<NL>
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[SOURce:]SAFEty:PRESet:ARC[:MODE]FH T 14 5& FEL Il A%E =X,
[SOURce:]SAFEty:PRESet:ARC[:MODE]? 25 ) H UMl =X,
fir 21875 [SOURce:]SAFEty:PRESet:ARC[:MODE] {CURRent | LEVel }
Hr: CURRent Fon LA
LEVel IR EH
115 7% [SOURce:]SAFEty:PRESet:ARC[:MODE]?
1)1 [A]:{CURRENT | LEVEL}<NL>
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2.12 R/ HEZG S

MMEMory:LOAD:STATe 72 F T In#k &R A7 1 304
2151 MMEMory:LOAD:STATe <flie number>
<flie number>s& X AF 75, JulE & 1600, NR1 #iEts=l, LREHESE.
QER:1. WERIMBPISCHEANTRE, BB ERBEEEENRIRERER.
2. WRIBERXXHSBHIEE, UE B S0 E H aE
ZEE. WHFEFEEH T TEHHE NS
fir 2B MMEMory:LOAD:STATe <“filename”>
A BLEEE N SO 4 “filename” SR B H SO AT N2
@¥F = A8 S48 InER SRR T A SR 30

MMEMory:SAVE:STATe 5 MMEMory:STORe:STATe iy & F T #1474 BT 2 1 B
B —AN S
2151 MMEMory:STORe:STATe <flie number> [,<“filename”>]
<file number> & FS, JEHZ 17600, NR1 Z#EtgX, TLERSE.
<“filename”>& BRAF IS4, P 20 NCA T ASCH FRF RN, TR E
M5B A dEie k. WRRIEE X4, (s A <Unnamed>7i 44 -
@QIFE: AN E I AN IE RN AR
ciHEEE: BRIRE NI SR EAES| H, BB SR AR — B R T
R ERBRMARFERF, W—EIEHRFT S5

MMEMory:DELete:STATe 14 F TR — AN S0 F
21572 MMEMory:DELete:STATe<file number>

<flie number>s& XX F5, JERIE 17600, NR1 # IS, LEERSE
QEE: UHBRMBRFERSEFE SRR
21875 Mass MEMory:DELete:STATe“filename”

PRSI S2 IBRSC A, “filename” BB SCF 42 FR, AT 20 ANBLA )
ASCI FRFRIN, EREML S5/ LRk,
@V E: SO 2 B SCHH R T I 380
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213 KRREZHS

KEY %4 5 45 iy 2 S5 7] T Hi T AR b A 42 S A e 4
KEY:LOCal IR (7] A Hh
KEY:KEYLock  LOCK 4 /fit e foc i 4 AF
KEY:MEASure il & & 7~ 4
KEY:SETup B F
KEY:UPPer i
KEY:DOWN R
KEY:LEFT iz
KEY:RIGHt eE45
KEY:NUM<n> (78, n N 0~9
KEY:DOT ZINER R
KEY:SIGN IRSEL <)
KEY:ENTer [n] 2=
KEY:BACKsapce B4

KEY:ESC YV
KEY:HARD PRAT Y2
KEY:F<n> ek, n N 1~5

2,14 FRAHEZZmS

SYSTem:SDATe A T & H H. SYSTem:SDATe? £ 1] 4 i4EH H .
215 1::SYSTem:SDATe<year>,<month>,<day>year,month,day & NR1 #& .
HA month 17 L2 FZ R #3:  {JANuary | FEBruary | MARch |APRil | MAY
| JUNe | JULy | AUGust | SEPtember | OCTober | NOVember | DECember}
A1 V%: SYSTem:SDATe?
)3 [A]: <NR1>,<NR1>,<NR1><NL>

SYSTem:STIMe % € 43 FF . SYSTem:STIMe? & B 73 F
fir A 15 1::SYSTem: STIMe<hour>,<minute>,<second>
hour, minute, second #& NR1 #%z{.
Y1572 SYSTem:STIMe?
Y 3% [A]: <NR1>,<NR1><NR1><NL>
SYSTem:STYPe ] 115 3 SAVE 1ZHERA7 CAFZRAY . SYSTem:STYPe? £ 1] SAVE 4%
PRAF U AL
T4 1E74:SYSTem:STYPe {CSV | GIF | BMP | PNG}
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B UWIEVE:SYSTem:STYPe?
Arif)IR [F]:{CSV | GIF | BMP | PNG}<NL>

SYSTem:PRESet H T E/. KRG W E S E (ANEE%EN M HEAFR A .
fir A 7:SYSTem:PRESet

SYSTem:BEEPer:PASS[:MODE]H T 14 & PASS I iR 25 na f S 7
SYSTem:BEEPer:PASS[:MODE]? ¥ PASS H NS S e S5 7Y
2 157X :SYSTem:BEEPer:PASS[:MODE] {CONTinue | GAP}
HA: CONTinue F/RiELEH
GAP K7 [H] B 75 & o
Y H)1E75:SYSTem:BEEPer:PASS[:MODE]?
253 [A]: {CONT | GAP}<NL>

SYSTem:BEEPer:PASS:VOLume 11 i€ PASS I 1§ RS 45 1 /3 &
SYSTem:BEEPer:PASS:VOLume? ¥ i) PASS Hef 4N S 1 75 3% &
AT & 1E4:SYSTem:BEEPer:PASS:VOLume{OFF | LOW | MEDium | HIGH}
Hrp:  OFF #BaRAKHF
LOW FIR K
MEDium FIxH &
HIGH KR 5175
YR E75:SYSTem:BEEPer:PASS:VOLume?
53R [4]:{OFF | LOW | MED | HIGH}<NL>

SYSTem:BEEPer:FAIL[:MODE]H T x& FAIL B N 25 e 75 28 7Y
SYSTem:BEEPer:FAIL[:MODE]? %] FAIL Hef NS B8 i 75 2571
AT & 15 7£:SYSTem:BEEPer:FAIL[:MODE] {CONTinue | GAP}
HA1:  CONTinue #/NIELLFH T,
GAP R[] W 75 & .
¥ 1) 157:SYSTem:BEEPer:FAIL[:MODE]?
Zr IR [9]: {CONT | GAP}<NL>

SYSTem:BEEPer:FAIL:VOLume F T 15 & FAIL Ff &R 25 7= 3% &
SYSTem:BEEPer:FAIL:VOLume? £ f] FAIL FiJ #2800 5 3% & .
T4 1H7%:SYSTem:BEEPer:FAIL:VOLume {OFF | LOW | MEDium | HIGH}
Hrh:  OFF #aRAKHEFEHE;
LOW F~ ki
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MEDium E~H &

HIGH R/~ 5
)15 1%:SYSTem:BEEPer: FAIL:VOLume?
)R [A]: {OFF | LOW | MED | HIGH}<NL>

SYSTem:STYLe:SKIN F T 15 & i 7~ XU
SYSTem:STYLe:SKIN? 75 1] {2 7~ XK
T2 185 7£:SYSTem:STYLe:SKIN{GRAY | BLACk | BLUE | CYAN}
Hr: GRAY EIR AT K
BLACK 7 JZ T 2 5
BLUE K7~ HLHEHE ;
CYAN FERIAH .
B HIEE:SYSTem:STYLe:SKIN?
7 1H)3R [7]:{GRAY | BLACK | BLUE | CYAN}<NL>

SYSTem:STYLe:LANGuage [ T & 5E R GE 5 -
SYSTem:STYLe:LANGuage? B R4iES -
T2 1572:SYSTem:STYLe:LANGuage {CHinese | ENglish}
Hrp:  Chinese xS T
English F7~ T SCFHIH
Y115 72::SYSTem:STYLe:LANGuage?
X if)IR [A]: {CH | EN}<NL>

SYSTem:STYLe:KSOUnd JH T 5& 428 % 1 5% .
SYSTem:STYLe:KSOUnd? 75 i #4835 T 5%

T2 1E72::SYSTem:STYLe:KSOUNnd{{1 | ON}| {0 | OFF}}
A H) 15 %::SYSTem:STY Le:KSOUNd?

B IR [E]: {0 | 1}<NL>
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3 HiEER

R B2, ATREAEHHR I BUEE, B AN IEM S
AAUZENS i & R BT AT, anBGE IR, WBoR S Bk 22>
B, B, e b, R R BN BR R CE 2 . aR S T
T i 2 B B il R BIESE, IB AR S AR BT T AR

PRELSL EHEWMHREE, HEH RS SRR KRR,

HHREE

i

Undefined message

REVHE, TR AHEE .
%I401: DISP:PAG MEAS JW.i% N DISP:PAGE MEAS

Data out of range

B PR
15 - SAFE:STEP1:AC:LEV 6000, AC i 1 F H{H & 1 ¥ B

Invalid parameter

LR 2 B H
51| 1: SAFE:PRES:AC:FREQ 100, 100 /A SCHFI¥ AC Tiif [ 431

Invalid suffix

Ja 8RR, — R TLHD ) BAT
151 t11:SAFE:STEP1:AC:TIME:RAMP 1000us, us &[] A~ 537 ¢
AT

Data too long

B KK, BlinscfF 2k 20 74

Syntax error

RYiHR, W DISP fr 2 RN IZAZE F(:), WERAEHZ
RGHHR.

Command ignored

A 2N . WInE PR T I FE S, DISP:PAGEMSET 74
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4 GRresEhl

AREZG T T VISA(Virtual Instrument Software Architecture)/ZE,E Visual
C++ 6.0, Visual Basic 6.0F1LabVIEW 8. 5% f TP R Ei, ilid USBH: F {4 iy
A SEIUAX B FE AR T RE R G A2 S, 73 ) IR i 4 AL IPUIR (B 04

VISAZ—AN R 5 &M S gt AT Il W s e 42 1 (APD o 1E
X B RATIT I VISAZFENI-VISA . NI-VISA 2 3 [ FH FAX A TR A 7R 45
VISAPR#ESR 5 N FRE P2 . &80T LUE Rk FINI-VISA, 7EGPIB. RS232.
USBFILANS 2 [ I, sl #s SPCIIEAS . I F E 7 T it L S 2 nfe] T4,
AT DA AR AT 3 ) . AR EE T A KONI-VISA APIM B R, 165%
(NI-VISA FIF'FM) 5 (NI-VISAREF RS EFM) .

— NI IVISARL 43 A ULUR LA 3R
WACH K RIEE 21

QX FIR— L B CBRERR)
Q)R =T TR
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ZmAEHT HIHE% AR

WA ZBENI-VISA, 15 55 BINTHI M 2k (http://www.ni.com/china) F . FA1TK
FH 1) 22 285 145 /& C:\Program Files\IVI Foundation\VISA .
HUSBHE L, — s {48 J5 ARk L ATUSB DEVICE#: H, — Ui HPCHLIY
USBH% .
SRIE AT ITHAER YR TT G, PCAHLSE A BEORT m) 20T UEHE, 1B AR 2381 S IR 222
“USB Test and Measurement Device” #f4. @1P4-1F17R.
B EFES

K E IR B 5

5

T AR

USE Test and Weasurement Dewice

(V) MPEOELSEEE D RS . FALE
s HEA

-

TERREE [ il A
@ H=hER N T (0
O NP E A BT (R (3)

Bdbed, (RBE “T—F" .

] e
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4.1 Visual C++ 6.0 47724

WHIZ4T Visual C++ 6.0 B, FHE4%4n N 0 IRk AT 4 -
1.6 —/NEF MFC 1 TR

23T JFProject->Settings ' [{IIC/CHHIE IR, 1 CategoryHE i % $%Code Generation, 7£Use
run-time library#E # % ¥ Debug Multithreaded DLL. 5 OKI<HIXEHE. WlE4-1-1FT7R.

Settings For: lWin32 Debug :J General ] Debug CfC++ I Link I Resources ] M

Fategory;: ]Cude Generation ;]] Reset ]
Processor: Use runtime lThrary:

[Blend = B [[Debug Multithreaded DL
Calling convention: Struct member alignment:
]_cdecl ® :_] 13 Bytes * :_]

Project Options:

|mologo (MDd /W3 JGm JGX [Z] JOd D ""WIN32" [D 2
" DEBUG" /D" WINDOWS" D " AFXDLL" /D" MBCS"| |
{Fp"'Debugf{SR.pch" [Yu"stdafx.h" [Fo"'Debug/"

4-1-1

3. #T7FProject->SettingsH fLinkli 35, 7EObject/library modulesHE o - ilvisa32.lib -
SOK KX EAE . U P4-1-2F7 75 o

43T FFTools->Options 1 f¥Directoriesi% 1 -

7EShow directories forflE Hi% #Include files, X{iiDirectoriestE H %5 H AL ¥s ilInclude i) 545 «
C:\Program Files\IVI Foundation\VISA\WinNT\include, %1&4-1-3f7~;

7£Show directories fortfE H1i% #¥ Library files, X{iiDirectoriestE 112 [ AR INILIb ) B 15«
C:\Program Files\IVI Foundation\VISA\WinNT\lib\msc .
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=

LRI

Settings For: |Win32 Debug

E

General | Debug | CiC++ Link | Resources | ME EE

Category: [T -] Reset |

Output file pame:
|Dehug.-'SR.exe

[lbhiectmbrary modules:
v

isad2.lib

¥ Generate debug info ™ Ignore all default libraries
¥ Link incrementally I~ Generate mapfile

[~ Enable profiling

Project Options:

wvisal2.lib nologo [subsystemiwindows -
fincrementaliyes /pdb!"'Debug/SR.pdb" }debug
tmachine:1386 Jout"Debug/SR.exe" pdbtype:sept

“| Cancel |

Editor | Tabs | Debug | Compatibility | Build Directories | Source [T]3

Platform:

4-1-2

|win32

Show directories for;
j Ilnclude files

IQirecturies:

C:AProgram Files\Microsoft Yisual Studio\YCI8\INCLUDE
CAProgram Files\Microsoft Visual Studio\WCI8\MFCANCLUDE
CAProgram Files\Microsoft Visual Studio\WVCIBVATLAINCLUDE

e = FOLEE TR B A N

Cancel |

4-1-3
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5. 7544 Static Text. Edit 1 Button. 1 4-1-4 Fis.

5] SR ==
Input
Edit
Output
Edit

Send Read

4-1-4

(TIPS StaticText #2544, 437l 44 4 Input A1 Output.

Q)IINFEAS Edit 514, 254 & m_send Al m_read. WP 4-1-5 F1 4-1-6 Ft
TNo

5] sR ==

................................................... s
& cut
------------------------------------------------------------------ e &iponst e B e e Eop:f

Insert ActiveX Control...

Send Reag ¥ Check Mnemonics

25 ClassWizard..

Events...
Properties

4-1-5
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Message Maps Member Variables I Automation | Activex Events | Class Info I

Project: Class name: Add Class... ~
[sr ~| |cshoig

-

Add Variable...
EADSO command{SRASRDIg.h, EADSO command\SRASRDIg.cpp
Control |Ds: Type Member Delete Variable l
IDC_BUTTON1 = =
IDC_BUTTON2 Update Columns

IDC_EDIT1

IDC_EDIT2 CString m_read

Description: CString with length validation

Maximum Characters:

OK I Cancel

4-1-6
(3) WP Button #4473l A 44y Send Al Read.
6. A ili”Send 4 4#, BEANGRAEI .
(1) Sk SO LD TR I=Hinclude “visa.h™ JHE4T 75 1

@FERIC i, B A, E SOR SRR AR
ViSessiondefaultRM, vi;

char buf [256] = {0};

CStrings,strTemp;

char* stringTemp;

ViChar buffer [VI FIND BUFLEN];

ViRsrc matches=buffer;

ViUInt32 nmatches;

ViFindList list;

(3) fE:CSRDIg(CWnd* pParent /*=NULL*/)
: CDialog(CSRDIg::IDD, pParent) £, 4m send = T("*IDN?\n");

(4)7E::OnInitDialog() &, ¥ Inun FALHS,
viOpenDefaultRM (&defaultRM);

/3R ELvisa I USB %% i

viFindRsrc(defaultRM, "USB?*", &list,&nmatches, matches);
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viOpen (defaultRM,matches,VI NULL,VI NULL,&vi);

(5)TE”Send #ZBAL, A0 ALK .
NIRIE BRI i &

UpdateData (TRUE);

sttTemp =m_send + "\n";

stringTemp = (char *)(LPCTSTR)strTemp;
viPrintf (vi,stringTemp);

(6) fE Read”#Z AL, WINWT FARAD .
/1S

viScanf (vi, "%t\n", &buf);

RS ATV NP S

m_read = buf;

UpdateData (FALSE);

(7)7E::0nQueryDraglcon() , #hnan IS,
/1R PR B U

viClose (vi);

viClose (defaultRM);

7. PRAE GmPFEIIZATIEST, SRV THAT M. AR SPCHLEIIARIERS, {EInput | 4miHAE
':F'%u)\ Z4, WXIDN?2(*IDN2ZNERINI A2, $4“Send 124, Fi% “Read &%, 1%
IR [ (1) 25 B SR fEOutput N gmHAE . W1&l4-1-7F 7R

fEES 2 N

Input
+I0H?

Output

Eucol Electronic Technology Co.,Ltd. ;USS00;12345678 V1.3

|

4-1-7
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4.2 Visual Basic 6.0 2726

151247 Visual Basic 6.0 21, FH4z i R P BIHATEAE

1. & —Standard EXE T.FE.

2.4T 7T Project->Add Module f#] Existing J&3 -+, 77T NI-VISA %% T
C:\Program Files\IVI Foundation\VISA\WinNT\include S f:3&H1[1] visa32.bas 3 {4

. WK 4-2-1 s

& radvosse I =)

Hew Existing ]

TR 1) | inelude _Vj L] ﬁ v

s =3 £ Foh i
éBvisazz.bas

A vpptype bas

MPFE M) [riza3l bas T (@) |
SPFZAIT): |Basie Files (# bas) - ok

£ERA (H)

[~ Dor’ t show thiz dialeg in the future

4-2-1

3. NN FRS 3N Input A1 Output [ Label. P TextBox LA K& %4 #5437 4 Send
F1 Read /) CommandButton. F¥4% Input ] TextBox @ H 1) Text % & N

*IDN?HIWIGEIRZAS . W 4-2-2 Fiwso

4-2-2
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4.5TTF Project->Project] Properties 1] [General 63K, 7F Startup Object | $iHE
Hik# Forml .

5.0t Send H i BE NSRRI, AN AN AAD .
Dim defrm As Long

Dim vi As Long

Dim list As Long

Dim nmatches As Long

Dim matches As String * 200 'fr B 3R B % & 5
Dim strRes As String * 200

Private Sub Cmd Read Click()
" RE A IR EPRES

Call viVScanf(vi, "%t", strRes)
Txt output.Text = strRes

End Sub

Private Sub Cmd_Send Click()

" ORIE N N A

Call viVPrintf(vi, Txt_input.Text + Chr$(10), 0)
End Sub

Private Sub Form_Load()

" AT visa 1) usb THUH

Call viOpenDefaultRM(defrm)

Call viFindRsrc(defrm, "USB?*", list, nmatches, matches)
"I

Call viOpen(defrm, matches, 0, 0, vi)

End Sub

Private Sub Form Unload(Cancel As Integer)
Call viClose(vi)
Call viClose(defrm)
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End Sub

6. TRAFIFIZITEEN THE, 1 BIPA T HAT M. M35 PC AL IIAHIERS, £
Input N SCAS G BEHAE Fp o N — 25 i 2, WIIDN? (*IDN?2 A ER A S 17 2), $%“Send”
fk, 4% Read”#08E, AXERIR M1 45 F 7R 7E Output R SCARGRARHEF .
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4.3 LabVIEW 8.5 237234

IZ4T LabVIEW 8.5 B A, FFzin R A BRIEAT Bk
1.7 GettingStarted i [ . %+ New>>Blank VI, ¥r&—4 VI. WK 4-3-1 fir

| File Operate  Tools Help

oL TN

" o
g WEW- 8 L] 5 Licensed for Professional Version

Resources

New To LabVIEW?
‘b, Blank VI Getting Started with LabVIEW

%) Empty Project LabVIEW Fundamentals
;'g WIfrom Template...
£ More...

Guide to LsbVIEW Dacumentation

LabVIEW Help
Upgrading LabVIEW?
) LabVIEW Project Enhancements
o Ivpro)
[E) G..03000\Comsoft 2010\TDO30005.lvproj
[} GAfile\TDO3000\Comsoft TDO3000.vpraj Merging Vs
|, Command.vi Conditional Terminals in For Loops
= Comsoft 2010, List of All New Features
[k} Keypress State Enum.ctl

Y ‘Web Resources

RIGHT Key.ctl
LEFT Key.ctl
| Checkvi
&, Untitled Lvi LabVIEW Zone
[t Comcheck.cti Examples
Browse.., Q Find Examples...

Discussion Forums

Training Courses

4-3-1

2.\ ETTH AR %E$E Controls>>Modern>>Boolean>> OK Button Ji{ & 3 L8 7 E
SN Write, Read 1 Stop. 41 4-3-2 fiis.

(Fie Edt View Project Operate Tools Window Help

@@ 15pt Application Font | ~ || 8o ||t~ |22
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3R P HE B 1) R ERE ML $F Functions>>Programming™>>Structures>>Event
Structure K il & —~ EventStructure ZF44E .,

4. WFEFAE At S AELE FE Add Event Case..., N 3 MZEE5 AU Value
Changed S W4 BB 4 0 7 Il TN 25 B S AARAE

5. FF Write %8 ValueChange SHHAHE, M RN LT Functions>>Instrument
I/O>>VISA>>VISA Write K & —> VISAWrite b %% Write %5 ]
ValueChange FHAHEA .

6. M PRHEUENIEFE Functions>>Instrument I/O>>VISA>>VISA Advanced>>VISA
Open K E —1> VISAOpen pf %5 2 FAEHE ) £2 ]

7. Fi8 VISAOpen 1] VISA resource name %285, (&P bk £
Create>>Control >R & — M A2 VISA resource name.

8.JE4; VISA Open [ VISA resource out #2245 i Al FAFHE P VISAWrite B85
VISA resource name %28t . 2R error out Al error in &2k o

9. 478 VISAWrite [1] writebuffer $:4¢¥, 7EPIEHSE R H % Create>>Control
SR — M IE 1 write buffer. WK 4-3-3 FI7R .

T3 Untitled 2 Block Diagram * s e |
Eile Edit VYiew Project Operate Tools Window Help 3
[ =5

ﬁ}i@] IE“'.D‘E’:—" |15ptApp|icati0n Font v”!;.v";]:‘f”fﬂv" |7

A

= [[0] "Write": Value Change vp[—————
write buffer Write
Goch
WISA resocurce name
ws.aq =
I_‘iabc-, D
(]
Source
Type
Time
b i ;
4-3-3

10.£ %% Read #%## ValueChange HFHE, M EREUENR LR Functions>>Instrument
[/O>>VISA>>VISA Read K il & —> VISARead X121 % Read %) ValueChange
HAHEF

11.45 %8 VISARead 7] readbuffer F24k¥s, 7ERGEHSE R EFE Create>>Indicator
KA — N B RTE L read buffer.

12.47 88 VISARead [f] bytecount $24¢ ¥, 7EPRIEGE R H ik Create>>Constant

KOAE—NMEE. HHHERN 1024,

1354k error #4604, 4R VISA resource name $% 2k . 1B 4-3-4 Fis.
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{3 Untitled 2 Block Diagram * =SECIH X |
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